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2A7 (18) VUEERE (B)
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CNGV - CHGVH - CHGTHE #R LU DItE &

500Lk 3%
LPG 665, 022 2,338 0 1,288, 566 17,941 0
PG 65, 804 95 0 189, 386 384 0
LG 195, 946 0 0 2,118, 354 597 0
AG 1, 651 0 0 33, 890 3,000 0
LT 3, 159 510 0 217,208 9,471 0
LNGV 0 0 0 0 0 0
nL 0 0 0 0
(LDH 0 0 0 0
CHGGV 99 0 0 370 0 0
ZDfth 250 26 0 2,272 87 0
EREysst | 931,931f 2,969 of 10,260,046 ¢ 31,4800 ). 0
HETERALE %) 96.2 83.2 0.0
S@%Es 934,90 | 10291526 ]
xETERA L (%) 96.2

500L LA £ 1000L k&
LPG 0 0 0 0
PG 500 0 15 0
LG 362 170 118 3, 991
LT 0 0 0 0
nL 0 0
(LDH 0 0
CHGGV 0 0 0 0
ZDfth 56 0 443 0
st [ o18f o .} 416  391f £
HEFERAE &%) 112.9 120.0
wessst | toe [ 81 ]
HNETERAE %) 0.2

1000L LA E
LPG 1,305 674 18 9,37 4,835 373
PG 0 0 0 84 45 0
LG 459 126 0 2,020 1,630 28
LT 38 0 6 644 133 135
(LDL 0 1
(LDH 0 2
CHGGV 0 0 0 0 0 0
ZDfth 0 0 0 156 11 0
fEREgA | 1802 1 ool a [ 225 67 T
HEiEREALE (%) 87.5 101.6 70.4
LA | 26 _______ [ tosm&
HEERAE %) 0.2




#¥xX3—-13 » (= | =
ARAGMERREZESRSER 2/ 2)
054 287 HEREEREM
2A% (@) VAEERE (B)
AT | ReR | REENEE | #es LT Er RRENEE | #iH

CNGVE 22 R DR &
e S R ] of of ] 285 [ of 0
HNETERAE %) 2.0 1.1 0.0 0.0
oevEgAR [ o I o ]
HEERAE (%) 0.0

CHGVHE 2 F DIt R &
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